

	Bid	Evaluation Report
	Supply & Installation of Securi	ity Alarm System for Night Guardless Branches
1	Name of Procuring Agency	Sindh Bank Limited
2	Tender Reference No.	SNDB/COK/ADMIN/TD/1395/2024
3	Tender Description	Supply & Installation of Security Alarm System for Night Guardless Branch
4	Method of Procurement	Single Stage One Envelope Bidding Procedure
5	Tender Published & SPPRA S. No.	T00531-24-0002. Express Tribune (English), Daily Express (Urdu), Jeejal (Sindhi) (06/08/2024)
6	Total Bid Documents Sold	01
7	Total Bids Received	01
8	Technical / Financial Bid Opening Date & Time	22/08/2024 at 1100 Hrs.
9	No. of bids qualified	01
10	Bid(s) Rejected / Disqualified	00

Details on the above as given below:

S. No	Name of Firm or Bidder	Qualified / Disqualified in Technical / Eligibility Inspection/ Mandatory	Cost offered by the Bidder (50 Branches)	Ranking in terms of cost	Comparison with Estimated cost (Rs.12,000,000/-)	Reasons for acceptance/ rejection	Remarks
	1	2	3	4	5	6	7
1.	M/s. Fearless (Pvt) Ltd	Qualified	Rs.7,748,800/- (Per Branch Cost Rs.154,976 x 50 Branches)	Only Bidder	Rs.4,251,200/- Below the estimated cost	Only Bidder as Most Advantageous Bid Accepted- Award of Contract	Rule 48 has been complied with

Accordingly, going by the Technical/Financial Evaluation criteria laid down in the tender document, M/s.Fearless (Pvt) Ltd is the most advantageou bid i.e.Rs.7,748,800/- and their bid is also below the estimated cost, hence recommended for award of contract for Supply & Installation of Security Alarm System for Night Guardless Branches to countrywide branches of Sindh Bank Limited.

Members Signature- Procurement Committee

Dilshad Hussain Khan Chief Financial Officer

Arshad Abbas Soomro Head of Administration

Syed Muhammad Aqeel Chief Manager, IDBL Karachi



TENDER No: SNDB/ADMIN/TD/1395/2024

Dated: 04-09-2024

# <u>Supply & Installation of Security Alarm System for Night Guardless Branches</u> Certificate in Compliance of Rule 48 of SPPRA

This is to certify that as only one bid was received against the tender, so Rule 48 has been complied with detail as follows:

S.No	Estimated Cost.	Current Tender Price		
01	Rs.12,000,000/-	Rs.7,748,800/-		

### **Member Procurement Committee**

**Head of Finance Division** 

Head of Admin Division

Member of IDBL

#### Comparision of Cost for Supply & Installation of Security Alarm System for Night Guardless Branches

Amount in Pak Rs.

			ESTIMATED COST				FEARLESS (PVT) LTD			
S.No.	Description	Approximate Quantity Required Per Branch	Rate Per Unit Per Branch	Amount	Total Nos. of Branches	Grand Total of Branches	Rate Per Unit	Amount	Total Nos. of Branches	Grand Total of Branches
1	PIR - Passive Infrared Detector	5	3,000	15,000	50	750,000	3,000	15,000	50	750,000
2	Door Contact Roller Shutter	2	2,450	4,900	50	245,000	2,450	4,900	50	245,000
3	Electronic Siren	1	1,500	1,500	50	75,000	1,500	1,500	50	75,000
4	Cable 5 Pair in meter	200	230	46,000	50	2,300,000	230	46,000	50	2,300,000
5	Cable 2 Pair in meter	200	160	32,000	50	1,600,000	160	32,000	50	1,600,000
6	PVC Channel 1" in feet	350	Included in serial no.4	Included in serial no.4	50	i el	Included in serial no.4	Included in serial no.4	50	-
7	PVC Channel 3/4" in feet	350	Included in serial no.5	Included in serial no.5	50	-	Included in serial	Included in serial	50	
8	Viberation Sensor	4	1,500	6,000	50	300,000	1,500		50	300,000
9	Magnetic Contact	6	650	3,900	50	195,000	650	3,900	50	195,000
10	Installation Charges	1	8,000	8,000	50	400,000	8,000	8,000	50	400,000
11	Monthly Guard Patrolling	1	8,000	8,000	50	400,000	8,000	8,000	50	400,000
12	Annual Monitoring Charges	1	29,676	29,676	50	1,483,800	29,676	29,676	50	1,483,800
	Total Cost Pe	Branch		154,976		7,748,800		154,976		7,748,800

SIGNATURE MEMBERS PC-ADMIN
Head - Fin Div.
Head - Admin Div.

Member-IDBL..

Date:\_



### **FINANCIAL PROPOSAL**

(Supply & Installation of Security Alarm System for Night Guardless Branches)

# PRICE SCHEDULE (Applicable for the year 2024-25)

Name of Bidder: M/S. FEARLESS (PVT.) LTD

S. #	Description	Approximate Quantity Required Per Branch	Rate/Unit with Taxes	Amount in Rs with taxes
1	PIR – Passive Infrared Detector	5	3,000	15,000
2	Door Contact Roller Shutter	2	2,450	4,900
3	Electronic Siren	1	1,500	1,500
0	Telephone Cable 5 pair (Pakistan Cable or equivalent) including wiring in conduit and Patti fitting	200 meter	230	46,000
5	Telephone Cable 2 pair (Pakistan Cable or equivalent) including wiring in conduit and Patti fitting	200 meter	160	32,000
6	PVC Channel 1" in feet	350 meter	Already included in Serial #: 4	
7	PVC Channel 3/4" in feet	350 metet	Already included in Serial #: 5	
8	Vibration Sensor	4	1,500	6,000
9	Magnetic Contact (Surface/Flush)	6	650	3,900
10	Monthly Guard Patrolling	Per Month Per Branch	8,000	8,000
1)	Installation Charges	One Job	8,000	8,000
12	*Annual monitoring	One Job (Optional)	29,676	29,676
	Total Amount Per Branch			154,976
	Grand Total (154976*50)			7,748,800



## SIGNATURE MEMBERS PC-ADMIN

Hand Fin Di.	
Head - Fin Div.	A STATE OF THE PARTY OF THE PAR
Head - Admin Div	W
Member-IDBL	V
Date:	

#### Note:

- 1. <u>Important.</u> This tender is specific to those companies who are already providing Security Alarm System to the Sindh Bank Branches, so no additional monitoring charges will be paid to successful bidder for response services on account of guardless monitoring charges.
- 2. Delivery Period. Supply & installation of equipment will be completed within 30 days after
- 2. award of contract. If the item is not provided/installed after 30 days issuance of award of contract or purchase order, a fine of Rs.5,000/- per day / per branch will be deducted from the billing. In case of failure to supply & installation equipment at site after 50 days the tender will stand cancelled.
- In case of over writing/cutting/use of Blanco is found in the Financial Bid document, the bid will be taken as null & void however if the figures are readable and are also duly signed only then, bid will be accepted.
- 4. The cost must include all applicable taxes, stamp duty (as applicable under Stamp Act 1989) duly stamped on the contract agreement, installation, commissioning, transportation and labour charges.
- 5. No advance payment for the supply of equipment will be made, bills are only be processed for necessary payment on receipt of certificate of delivery/satisfaction from the concerned officer.
- Calculation of bid security 5% of the \*(Grand Total Amount x 50 Branches) will be submitted with the tender document as bid security in shape of Pay Order/Demand Draft /Bank Guarantee in favour of Sindh Bank Ltd.
- Most Advantageous Bid is going to be the criteria for award of contract rather than considering the lowest bid offered, encompassing the lowest whole sum cost which the Procuring Agency has to pay for the services/items during contract period. SPPRA Rule 49 may please be referred.
- The tender will be considered cancelled if the contract agreement/performance security after due signature are not submitted with Admin Office after 5 days of completion of bid evaluation report hoisting period (3 days) on SPPRA website.
- In case financial bids are the same, the successful bidder will be the one who has acquired more marks in the technical evaluation.
- 10. Mode of Transmission will be dual (Landline + GSM).
- 11. The monitoring charges, mentioned at serial No 11 above will be paid on quarterly basis.
- 12. For night guardless 50 branches will be selected & finalized by the Sindh bank from the attached list of branches as annexure "H". Sindh bank ltd has the full discretion to install the guardless equipment among attached list of branches on need basis and / or case to case basis in country wide regions.
- 13. The bidder will provide own response in the guardless branches.
- 14. Police response in the guard less branches will not be acceptable.
- 15. If the bidder who win the tender and is already providing services of Burglar Alarm System in Sindh bank ltd and the same bidder will not charge / claim any annual or quarterly monitoring charges.
- 16. \* If the bidder who win the tender but they are not providing the services of Burglar Alarm System in Sindh Bank Ltd and in this case the Sindh Bank will pay annual or quarterly monitoring charges to them and the bidder will take all responsibility of existing burglar alarm system installed in the branches and the existing vendor will be discontinued after signing of new agreement with the winning bidder for guard less branches.
- 17. Certificate to be attached that the branches asked to be guardless are under company's own response force, as any branch mapped to be covered by police response force is not acceptable.

18. Status of Own Response of each branch should be mentioned in the attached list of branches as annexure "H"

Marian Char

Signature & Stamp of Bidder

SIGNATURE MEMBERS PC-ADMIN

Head - Fin Div . -

Head - Admin Div .-

Member-IDBL.\_

Date:-

17



System for most greatly tracker

Date: 22-08-2024

S.No	Company Name	Name of Company Representative	Contact No.	Company Address	Signature
1	Fearless (Pr+)	us	2002	Christin Habi	Jank
				¥	
			,		

Signature –Procurement Con	nmittee Members 12
Head of Administration	/ land
Chief Financial Officer	all
Chief Manager (IDBL)	

MINUTES OF THE OPENING OF THE TENDER (TECHNICAL /FINANCIAL PHASE)

TYPE OF PROCUREMENT	ADMIN / IT / CONSULTANT / MEDIA
TENDER NAME	Supply & mutallation of Sont of
TYPE OF TENDER	Supply & Installation of Senty alarm System.  SINGLE STAGE-ONE ENVELOPE / SINGLE STAGE-TWO ENVELOPE  SINGLE STAGE-ONE ENVELOPE / SINGLE STAGE-TWO ENVELOPE  Medit quardley Bre
OPENING DATE	22 10812024
OPENING TIME	1100 Hoers
ATTENDANCE (MEMBER PC)	
TYP	
TEM	
v. O	
Le	
	NAME
TENDANCE (REPS. OF BIDDERS)	brhulaun Nash @ Fearles (Px+) 10 47748800/.
	1///(3800)
BIDS ACCEPTED FOR EVALUATION	401
BIDS CTED	
'KS	
	SIGNATURE MEMBERS PC-ADMIN
	Head - Fin Div
	Head - Admin Div. Will 1
	Member-IDEL